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QUESTION 1

Which of the following best describes how the relay log works?

A. It records the times when the slave connects to the master.

B. When a slave receives a change from the master, it is recorded in the relay log first and processed later.
C. When a slave receives a change from the master, it is processed first and then recorded in the relay log.

Correct Answer: B

QUESTION 2

Which of the following statements about MEMORY tables are true?

A. Creating many MEMORY tables should be avoided.

B. It is OK to store large amounts of data in MEMORY tables.

C. MEMORY tables should not be used to store large amounts of data.

D. The number of MEMORY tables on a server will not cause any performance problems.

Correct Answer: D

QUESTION 3

mysql> EXPLAIN SELECT * FROM City WHERE CountryCode = \'USAW\G ***iikiiikiiioiiiink | row
kkkkkkkeeeekakkk jd: 1 select_type: SIMPLE table: City type: ALL possible_keys: NULL key: NULL

key_len: NULL ref: NULL rows: 4079 Extra: Using where What does it mean that the possible_keys column value is
NULL?

A. No index is considered available for this query.
B. No index exists for the table you are querying.
C. You are not making use of any available indexes in your query.

Correct Answer: A

QUESTION 4

Which of the following best describes the purpose of the record buffer (as controlled through the read_buffer_size
variable), and how it is set?

A. The record buffer is set per connection.
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B. The record buffer is used for operations such as ORDER BY or GROUP BY.
C. The record buffer is global and is only set by restarting the server.
D. The record buffer is used to perform sequential table scans, reducing the number of reads from disk.

Correct Answer: C

QUESTION 5

What type of resource limitations may be placed on a user account with the GRANT statement?
A. The number of times per hour that an account is allowed to connect to the server

B. The number of queries per hour an account is allowed to issue

C. The number of updates per hour an account is allowed to issue

D. The maximum number of simultaneous connections an account can have

E. Resource limits can only be specified globally, not per-account

F. MySQL does not have provisions for limiting resource usage

Correct Answer: F
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